67

Key word

(2008 10

58 22.6

2007

19

25

20

15

10

( \' 7 ) [H s HF

80 82 84 G6 88 00 952 94 96 98 00 02

04

06 08

10 15cm

1983
1.3



10

18
1968 43 40
1980 55 3

3

3 7, 12, 13

E7,E12,E13



4
25
o 52
- e 19805E%
32 20 o B
5 o 80 o COODEESE
& {EE1E
) -
# 15
E
f 0 r
f.
il
e 5 i
ﬂ L 1] 1 1 1
15 16 17 18 19 20 21
TEBDOAE(C)
4 3 E7E12E13 7
-0.66 5
1980 16 18 1990
91 93
17 19 2000 18
07 19
16.5
7



10
9
pi 8
¥ii 7
= 6
~ Db
A4
=
Tt
I
0
B0 B2 84 BS BB 90 92 094 98 D8 00 02 04 06
5
2
5 6
25
o
@ 19505FH, @
iﬁ_ﬂ] I o 19805
= & OOOEEFL
= 1% @
]
EIS
E
L0 |
]-.
)
e oD |
n 1 i i
80 130 180 230
5 6EMFEHBEEME (M.~ B)
6 2 5 6

0.63 5






